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Nt=

Hg=

L=

Lg=

Ks= 1.0 Kh=Z-Ks=

Zz= 10

Kv=Kh/2=

Fh=Kh-W-9.8=

Fv=Kv-W-9.8=

Rbe Fh-Hg—(W-9.8-Fv)-Lg _
L-Nt

Q=Fh/N=

0=Rb/A=

T=Q/A=

fts'=1.4ft-1.6 T =

fts' >ftD & Efts=FtTHHIDT fts=

o= 10.1 MPa < fts=

Ta=

117 kg
4 x
10 i
78 mm‘= 78 x10° m?
2 EN
592 mm= 0592 m
370 mm= 0370 m
167 mm(Lg=L/2)= 0.167 m
1.0
0.5
1146.6 N
573.3 N
787.9 N
286.7 N
HRILE(SSA0)DEFBSIRIG S ft
10.1 MPa <ft=176MPa
RILH (SSA00DEFBEAMIE S fs
3.7 MPa <fs=101MPa
240.5 MPa
176.0 MPa
176.0 MPa
HEMTRERT N—
120 mm= 0.120 m
80 mm= 0.080 m
7600 N > Rb= 787.9
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Heg= 592 mm
Lg= 167 mm
X= 440 mm
L= 370 mm



